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1. Identify the surface defined by 2 —y f' Q—k 22 =4

A. hyperboloid of(one sheet
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2. If L is the tangent li he curve ©'(t) = (2t — 1, 2, 2 —2) atﬁnd the point
where '_[; intersects @@ s g
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3. Let \7:/1 (%T +2t3j'+(t—3t2)lz> dt. Comput
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4. Find the area of the triangle with vertices at P(2,2,1), Q(1,—1,2), and R(0, 1, —-1).
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5. The level curves of f(z,y) = \/x2 + 4y2 + 4 —yre/
A. hyperbolas /\[ > B
X +4(\] e = haw

B. ellipses
C. parabol

D. sometimes lines and some#imes ellipses 2 |
E. circles /4,61_(— 4 - <k+«) = -+ Zk« ""k
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7. A particle is moving with acceleration
a(t) = (6, 6t, 0).

If at time ¢ = 1, the particle has position (1) = (2, 1 2), and, at time ¢t = 0 it has
velocity \7! 0) =0, 0, 1), compute |r(2)], the magnitude of the position vector at t = 2.
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8. If f(z,y) = zsin(zy?), then fy, (1) is equal to
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9. Let f(z,y,z) be a function which is differentiable at (1,1, 1) and

of of of

8:1:(1 L1)=-6, 8y( az(

1,1,1) =2, and 1,11 = —1,

Let ’yﬁ_z y(t), z(t)) be the parametric equation of a differentiable curve in R3

d — d
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10. Which of the following is an equation for the pl ne tangent to the surface 2

o | o ek 2 42- (3
z=tan (z°+y°) at the point (E’%’Z)? __é__‘: _7/(
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9. Let f(z,y, 2) be a function which is differentiable at (1,1,1) and

8f(1 1,1) = -6, 6f(l 1,1)=2, and ?—f—(l,l,l) = ],
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Let ¥(t) = <a:(t), y(t), z(t)) be the parametrlc equation of a differentiable curve in R3
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and suppose '7 (1,1,1) and —2(0) = 37— 37+ k. We can conclude that ( (1))

io_;;%(t—“\t <§ 'XH’\ +~5aj gf\* f ,ﬂ
S = vl \t:;v}%‘r’(o\) V(O\

:<-—~6/2—/"‘>’ <)7/—3/ I>
= “)g_4-1= -4

10. ‘Which of the following is an equation for the plane tangent to the surface

1 m
z=tan"}(z? +4*) at the point < >7
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